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Calculus BC


Derivatives of Inverse Functions
Name______________________________
g(x) is the inverse of f(x)

For a given point on f: 
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For the reflected point on g:  
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Thm: If (a,b) lies on f(x) and (b,a) lies on g(x) where 
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Proof:

1. Given 
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, find the slope of the tangent line of 
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 at the point (5, 1).

2. Given that f and g are inverse functions, consider the table below to answer the following questions:

	x
	2
	3
	4

	f(x)
	1
	4
	6
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	¾
	5
	½



Find:
a.  g(6)


b.  
[image: image9.wmf]¢

g

(

)

4




c.  f(g(8))

3.
A particle moves along the x-axis so that its position for t ≥ 0 is x(t) = tan-1t.  Find the velocity of the particle when t = 1.
4.
Write the equation of the tangent line of h(x) = cos-1x when 
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